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(m) (m) (m) (m) (cm) (m) (m) (t/80) B (t/m)
. 1~ 3 8.0 4.2 25 1.25 13.34 5.2 8.3
A0LF 4~10 8.0 4.4 25 1.25 13.61 5.3 8.5
=0 4~10 9.0 5.3 25 1.25 15.84 6.2 9.9
1~ 3 10.0 5.1 25 1.25 16.37 6.4 10.2
20 4~10 11.0 5.7 25 1.25 18.01 7.0 11.3
1~ 3 11.0 5.6 30 1.25 18.08 8.5 13.6
8.0 1~ 3 12.0 6.0 30 1.25 19.50 9.1 14.6
9.0 4~10 12.0 6.2 30 1.25 19.69 9.2 14.8
105 4~10 13.0 6.8 35 1.25 21.58 11.8 18.9
1~ 3 14.0 6.3 35 1.25 21.64 11.8 18.9
12.0 1~ 3 15.0 6.8 35 1.25 23.29 12.7 20.4
13.0 1~ 3 16.0 6.8 40 1.25 24.31 15.2 243
14.5 1~ 3 18.0 7.5 40 1.25 27.06 16.9 27.1

] sEH

W7 —F B 28GR (C(FERAIDSE
MDIHLYN—2ETDIEELETR
WE,

W7 —F 2RISR T ERiHbRESE
HICLOTEBRIE T,

W02V A I36%E TE
LUET,

WZHEET O 2/ V& RO,
HIRARICIEHIGLTWVEB Ao

WZE IRV Y A XITDWVNTIE
B ERRIFET,

229

SN

BH\

HEE
127
A—3
NETIS

SR

K OB

MkErE

EtT

TIORINY
I

BRER

ol

Bt

B

BB
Frok i

ZR—=Y
4=l

ZDMhE R



